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DIPLOMA IN PRIMARY EDUCATION
(DPE)

Term-End Examination

ES-227 : UNDERSTANDING THE PRlftfrARY
SCHOOL CHILD

Time; 3 hours Maximum We:ightage : 7@/o

Nole ;

(r) AII the four questions are compulsory.

tii) AIt euiestions c(ffry equal weightage.

l. Answer the following question in about 600 words.

Wtrat are their implications for the teachers ?

OR

Discuss play and its t5pes. How does play affect the
development of a child ?
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2. Answer the following question in about 600 words.

Discuss with examples the relationship between physical

development and personality of the child.

OR

Discuss with relevant examples the social, emotional and

moral development of children.

3. Answer any four of the following questions in about

150 words each :

(i) Discuss the phenomenon of multi-lingualism in the

Indian context.

(ii) 
:::ffjn.role 

of home in the child's language

(iii) Explain the basic process of human development.

(iv) What do you understand by development of

prehension of language ?

(v) Discuss the differential treatment given to male and

female child at home.

4. Answer the following question in about 600 words.

While teaching in your classroom you must have observed

some children who are not regular to the school, nor do

they complete the home-work, etc. Write a report

highlighting the reasons as u'ell as the steps you would like

to take as remedial measures.
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(ii) sf vs# qT qfur wil;r d t

t. ffi T$T 6T srn dlTtrrr 6oo{reqf fr ffi |

\ ,{€ * trnrs t FT$fRH q'{t ErA ffif *t wt
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2- ffi TsT s'r sf,{ d'Tsr{ 600 yrq} q {Rq I

RHT?fr + qfuro s+{ ss-t rTr-fiRm rfis t qq
sEr*T q{ rqrFr"il Htrd wf drfuq l

sTsrEf

q-q] + H[qrrdrs, $nq;nere6 $il{ +frs trfrrs q{
q$fud r{drq tfr{ Tqf drfdq I

ffi q t ffi arrqrq] + qn{ frnsq | tr+s
T{trr q'r rfl drTrrIT 150 yrqJ if {fqq :
(i) qrffiq qR'hil fr qgqrqqrq *1 qRreTr *1 qqt

drfqq I

(ii) qEi t qmr-fsrg fr w s1 Xm"r ws qnfqq I
(iii) qFrq ks'rs +1 sTrsTRTn qrf,qr 61 qr€qr +1Fnq r
(iv) qrqr t erEqlq t frfrrs t sTrq Frr qqfle t ?
rv, "4\ i qrc.q, qq qilffiT H' nfr l-eh.q Vlq qrA

BRFr{{EilT q{dn q{ wt qfrfuq I

ffi rq'T fir Bilr drrwr 600yr<} fr {rqg I

f{qRFT fr e{rq} Ss tt ftqntr e{q{q td St q}
r d) ffin Fq t trqrrq El s{r} t sft r E} qq{r
fn-md ffid Fq t s{e t I EErt srril s} <Rrft
gq qd Yfd*qr dqR slRq r r+h ffiffirrrs srd
+ fdq BTrq Fn sqq sd;Tr qrFi ?
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